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(5-1) LIZNANSHRSEAR=AE, WE=AK « EFR=AK - EA=AK it/
=R - HB=A -

(5-2) REEBAR=B, WIE=AFK - FR=AK - EAR=AK  RA=AKKE A
=Bk -

(5-3) TETBBENZSE, Eik - KINMBEIN=8, L@k - BETBR, oL

TEES, WHEF=AK -

HEER
1. FZBEFHER, RBEL=AENGEMRS -

2. FHERN=AIRERIE=AK - FR=AK - EB=AK -
3. BFHEMH, KBES, TRTIEEEZFNTRE -

4. RARBOBREZRNIV/NESIFREN ©

1. ERRARE T 2H, EENEERBAFZEZETNAE: EREANISFH(—EIEES+M
@%) « LREEEHRA E/AsHA o

2. KEITETE 10/16 £ 10/28 %R HER, FIA 10/29 VA BT HETNRLULEBE
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BENTENREER .
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[SIEEHHE] How many triangle(s) 10 | =ZAKEE |fEBORKREN
1. BEFBE K=, ETLUTEEEE o 5| & KEERE
2. B5;E%) [Show me triangle] : iR LAME | i BxTrEs
ZAEEWTE) BHR2SFHELXBERA =/
FIEN=ALRHE -

[2E/EE)] Show me triangle(s) 20 seE A EE
BN HRESE, LU"SBRREEGETT, Z8Mds | 5H REKIRIEEE
SRER, B4E 0% N'What do you want?] i8 E
ETT, AEZ B/ \HE 5
<@&Biff 1> BT0E | BULHZRE
Z8mh: [ZEATRR IR = A
4. [What do you want? | BUHF I
Zeh: 3 EE=AH]
<gEtf 2>
28 [ZEATR
BH4: [What do you want?]

Zih: M1 BARA=Ak+1 BHA=AK+1 BEA

ER=AK]

LI LREH 1 R 2 BRRIEARRE - REMNS

A0, BN REBRISHERESEKRN=AE

<%8iff 3> BB

Zh: [ZEaiR!
BH4: [What do you want?]
Zih: [3HEEER=-ATL3HEEHA=A
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BH4: [What do you want?]
Zih: [0 WAt RZBEREA=A]
Bl 4 FREE, FRERN=ARIGRFATSE Lt
EKRGHEN=ARE -
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[#R&7E 8] Finish the exercise 10 |23 BEERR BT e
1. BNRBAHETEER o2} REE
2. EREBE, LIERNAENFESE=/ s
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FEER=AK
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=BERAEh: ( )E
INFR 90 B £ 90 E KK 90 E
AESLE (less than (90 degrees) (greater than 90
90degrees) degrees)
BE=AF

Acute triangle

ER=AE
Right triangle

HA=A
Obtuse triangle

1. EXRE—KRESTPEEFRINGRA=AFIY6E :

2. FHst—E=AEHRIBERE




